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{ = "Sumii",

= “E
= 20 }

o RIIT b : ®EOBOEND—D
ZRIME ( (E3:1)

datatype Int or_error =
of Int |




# (pair, tuple)

e INILNEBETHDEFHG.

[ L2— R

- val t = ("Sumii" "Enjiro', 20) ;

val t = ("Sumir', ijiro",ZO) .
string * string * iInt

- #1 t ;

val 1t = "Sumii™ : string

- #2 t ;

val 1t = "Ei1jiro string

- #3 t ;

val 1t = 20 - 1Int
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datatype i1tree =

ILeaf of Int
| INode of { left : 1i1tree,

right : i1tree } ;

datatype 1tree = lLeaf of Int | INode of
{left:1tree, right:itree}
fun 1sum t = t

isum (#left r) +
isum (#right r) ;
iIsum = fn - 1tree -> Int
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e LO—|

— fun 1sum t = case t of
= ILeaf 1 => 1

= | INode =>
= isum I + 1sum r ;

iIsum = fn : 1tree -> 1Int

- val t = ("Sumit"™, "Enjiro’, 20) ;
val t = ("Sumit”,"Eijiro",20)
string * string * Int
- case t of => s2 M " " AN sl g

val 1t = "Erjiro Sumii™ - string
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e LO—|

fun 1sum t = case t of
ILeaf 1 => 1
| INode { left = I, right = r } =
isum I + 1sum r ;

]
iIsum = fn - 1tree -> Int Do ” |!!|

val

(&S 'C’Eﬁb\)
. R
- val t = ("Sumit"™, "Engiro’, 20) ;
val t = ("Sumit”,"Erjiro",20)

> string * string * iInt
- case t of (s1, s2, ) =>s2 ™" " N gl ;
val 1t = "Erjiro Sumii™ - string
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— fun fiIb n = case n of

= 0=>0

=] 1=1 O OICHTIFESHEE

| n= Ffib (n - 1) + fib (n - 2) ;
val fib = fn : 1Int -> Int

O BE  NRA—2 9 TF71F

RS ERICEEEIRI DCEETTES
fun fib 0 = O

| fib 1 1

| fib n fib (n - 1) + fib (n - 2)
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- datatype i1tree = lLeaf of Int

= | INode of 1tree * i1tree ;

datatype 1tree = lLeaf of Int | INode of
itree * 1tree

- datatype stree = SlLeaf of string

= | SNode of stree * stree ;

datatype stree = SLeaf of string | SNode of
stree * stree

- datatype rtree = RLeaf of real

= | RNode of rtree * rtree ;

datatype rtree = RLeaf of real | RNode of
rtree * rtree
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- datatype "a tree =
= Leaf of "a | Node of "a tree * "a tree ,;
datatype "a tree = Leaf of "a | Node of "a
tree * "a tree
fun size t = (* HiBLTEZSE&KOM ~)
case t of
Leaf =>1
| Node(tl, t2) => size tl + size t2 ;
val size = fn - "a tree -> Int
- si1ze (Node(Leaf 3, Leaf 5)) ;
val 1t = 2 : Int
- si1ze (Node(Leaf true, Leaf false)) ;
val 1t = 2 - Int
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1. BNode(Leaf 3, Leaf 5)&Node(Leaf
true, Leaf false)O)®F. ENENMICH
2N, ENNHF.

2. Bifistring treelc’dd &HeAE =2%If
&,

e string tree&streclFRIOBRGOTREDITSF

3. XNode(Leaf 3, Leaf "abc™) QiF (%X
C. BReETHESF.

4.sizehil, 3, 10ICT3 D FH 0RO, —DOF
M., ENENEHBICT H2E.
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optionB&Ild.
datatype "a option =
SOME of "a | NONE
EERINCSHT—2ETH S.
pIBO) T=—2®int or errorOMhiliC,
optionBZMIVT, pIBIONY div¥)
my modiCii24id SR ZEEFE &.
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datatype "a list =
nil (* 2o+ *)
| :: of "a * "a list
(* 7ZRRKRE. BRUNIIRME
G / — < (constzIl) *)




- [1, 2, 3] ;

val 1t = [1,2,3] : Int list

- [true, false] ;

val 1t = [true,false] : bool list
- [

val 1t = [] - "a list

- nil ;

val 1t = [] - "a list

-1 :: [2, 3] ;

val 1t = [1,2,3] : Int list

- true :: false :: [] ;

val 1t = [true,false] : bool list
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-1 :: 12, 3] ;

val 1t = [1,2,3] : int list

- [1. 2] == [3, 4] ;

stdIn:2.1-2.17 Error: operator and
operand don"t agree [literal]

o & 7RSI 50130
- [1, 2] @ [3, 4] ;
val it = [1,2,3,4] : int list
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fun length x =

case x of
nil => 0
| -y =1+ length y
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ROBZRBICEDE, "a treeilO)

Btz RBAFRLOC a 1istBO
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PR 5. 6 (optional)

1. EERFEN RNV, vy, vs, ..., v, |ZERITER > T,
ENENORERICTEBRAUEII RN[T v, T
Vo, Fovg, ., T v 1B, ELVSEENapZ
21, FE. €OREETE S,

2. EOBEmap & B 3B OB3EK composelc D)
C. =N R XA SFURAKRTFEQICHL.
map (compose f g) x&

(map g (map T x))OnELED
(ELaIF) FLUI\CE%,
XORIICKT 2R FNFRETTE.
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